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1) QEAL Multiply decimals by 10,100,1000

Name: Date: Score:
8.132 x 1000 = 1.533 x 10 =
6.328 x 1000 = 9.297 x 1000 =
4.132 x 1000 = 2.429 x 1000 =
8.022 x 100 = 3.426 x 100 =
2785 %10 = 9.878 x 1000 =
2.291 x 1000 = 3.76 x 100 =
5216 x 10 = 5.801 x 10 =
1.88 x 100 = 9.893 x 10 =
10.366 x 1000 = 8.488 x 1000 =
8.689 x 10 = 7.093 x 1000 =
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Multiply decimals by 10,100,1000

Name: Date: Score:

8.132 x 1000 = 8132

6.328 x 1000 = 6328

4.132 x 1000 = 4132

8.022 x 100 = 802.2

2.785 x 10 = 27.85

2.291 x 1000 = 2291

5216 x 10 = 52.16

1.88 x 100 = 188

10.366 x 1000 = 10366

8.689 x 10 = 86.89

1.533 x 10 = 15.33

9.297 x 1000 = 9297

2.429 x 1000 = 2429

3.426 x 100 = 342.6

9.878 x 1000 = 9878

3.76 x 100 = 376

5.801 x 10 = 58.01

9.893 x 10 = 98.93

8.488 x 1000 = 8488

7.093 x 1000 = 7093
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